Ratio to Pythia 6.428 350

1960 GeV ppbar

Top (parton level)
| T 1 — T ]

I T I T | T I
Yy (ttbar) (Mtt > 450 dy > 0)

——— Pythia 6.428 350
—A— Pythia 6.428 370
Pythia 6.428 380
—6— Pythia 6.428 p0
--3-- Pythia 6.428 p2010

EIII|III|III|III|III|III|III|III|III|III|III|I

_'_\ A\
/ N
& %
=
7 \J
/. —
v, NI
[£) t;ﬂ
e 3]
|
# o
' '
JE] | | | . | | [ Rl |
— T T T [ T T T T T [ T T T T T T [ T
I I
- /
— x N !
= 2 [ -
T .L:: -~ _g_"= — =——:— . o R W q—-—-ssﬁ? =] 3 !
- - =/ — = Ty ay LN TANTA A /& L8 A = a v
g
Y n 1
I 1 [
r \ 1
L. @ - v ]
1 v
1 Va
1 ‘a
— 1 1 T
1 Y
1 \
' o
— |, ]
i 1
i :
1 " 1 | 1 1 1 1 | 1 1 1 1 | 1 L]

Rivet 3.1.10, = 3.2M events
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